R0015042 Install Infeed Datum Rollers

Details for mounting of datum rollers

@ Difficulty Easy ® Duration 0.5 hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Correct orientation

Step 3 - Mount Infeed clamp support Bar
Step 4 - Fit Datum Rollers

Comments

Introduction

Tools Required

Standard hex key set

Parts Required

D0007678 Infeed Clamp Support
RO000706 Bench assemble Infeed Datum rollers

Step 1 - Unless otherwise stated

Use locktite 243 on all fasteners
Use loctite 572 on all threaded pneumatic connection
Pen mark all fasteners to show finalised

Y
i

< 7, H
R i

Sl 5339

Page 1/4


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png

Step 2 - Correct orientation

..Datum roller assembly can be fitted in 2 positions.
Ensure the correct position is used for ZX5

Step 3 - Mount Infeed clamp support Bar

1 Insert 8 of M10 x 30 flatbottom grubscrews into holes indicated. Wind in until flush with bottom face

2 Mount D0007678 Infeed Clamp Support as shown.

3 Use 4 off M8 x 80 socket cap, each with a heavy M8 washer and a Heavy M8 penny washer

4 Wind each M10 grubscrew ( 8 off in total) 6 exact full turns to lift the beam evenly away from the indicated face

5 Apply light tension to M8 socket caps to hold support bar in position

Page 2/ 4


https://stuga.dokit.app/wiki/Fichier:014-warning.png
https://stuga.dokit.app/images/thumb/9/91/R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_080135.png/ia-6a0e73ddc28618a8bebce4985b6f1156-1000px-R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_080135.png.png
https://stuga.dokit.app/images/thumb/0/02/R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_075821.png/ia-1b81075b97ec24d546165debc98ca025-1000px-R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_075821.png.png

Page 3/4


https://stuga.dokit.app/images/thumb/0/05/R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_075840.png/ia-d94207d43e1973fc13808f42f96be664-1000px-R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_075840.png.png
https://stuga.dokit.app/images/thumb/f/fa/R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_081237.png/ia-0a9b88fe6ed354b8b8150e2edc535758-1000px-R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_081237.png.png
https://stuga.dokit.app/wiki/Fichier:R0015042_Install_Infeed_Datum_Rollers_Screenshot_2024-03-12_081522.png

Step 4 - Fit Datum Rollers

1 Mount RO0O00706 Bench assemble Infeed Datum rollers using 4 off M8 x 70 socket caps and M8 heavy washers . Orientate as shown

Page 4/ 4


https://stuga.dokit.app/images/thumb/d/d8/R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_082305.png/ia-9357684f9a6a106ad67a98eb1ef341e3-1000px-R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_082305.png.png
https://stuga.dokit.app/images/thumb/f/f9/R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_081935.png/ia-f4f51f51013070e7a91695fe0e5e3d1a-1000px-R0015042_Install_Infeed_Datum_Rollers_Screenshot_2023-08-02_081935.png.png
https://stuga.dokit.app/wiki/Fichier:R0015042_Install_Infeed_Datum_Rollers_Screenshot_2024-03-12_081528.png

	R0015042 Install Infeed Datum Rollers
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Correct orientation
	Step 3 - Mount Infeed clamp support Bar
	Step 4 - Fit Datum Rollers


